
www.mathfunworksheets.com

Name

Score

Make the exponents same before adding or subtracting.

(2.6 × 10-2) - (4 × 10-4) 

= (2.6 × 10-2) + (0.04 × 10-2) 

= 2.56 × 10-2 

1)   (2.45 × 106) - (2.24 × 106) 

2)   (1.8 × 108) + (0.9 × 109) 

3)   (6.48 × 104) - (4.1 × 103) 

4)   (7.7 × 10-4) + (0.64 × 10-2) 

5)   (4 × 1011) + (4.9 × 1011) 

6)   (1.2 × 1012) - (0.6 × 1011) 

7)   (5.9 × 103) + (1.8 × 103) 

8)   (9.1 × 10-6) - (7 × 10-8) 

SCIENTIFIC NOTATION

Simplify and express the answer in scienti�c notation.
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Name

Score

Make the exponents same before adding or subtracting.

(2.6 × 10-2) - (4 × 10-4) 

= (2.6 × 10-2) + (0.04 × 10-2) 

= 2.56 × 10-2 

1)   (2.45 × 106) - (2.24 × 106) 

2.1 × 105 

2)   (1.8 × 108) + (0.9 × 109) 

1.08 × 109

3)   (6.48 × 104) - (4.1 × 103) 

6.07 × 104

4)   (7.7 × 10-4) + (0.64 × 10-2) 

7.17 × 10-1 

5)   (4 × 1011) + (4.9 × 1011) 

8.9 × 1011 

6)   (1.2 × 1012) - (0.6 × 1011) 

1.14 × 1012

7)   (5.9 × 103) + (1.8 × 103) 

7.7 × 103

8)   (9.1 × 10-6) - (7 × 10-8) 

9.03 × 10-6

SCIENTIFIC NOTATION

Simplify and express the answer in scienti�c notation.

Answer key


